

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 15, 2023

Progress E	stimate Number 7		230217-D03 ctor Gene Haile Excava	Pay Period Start ating, Inc. Pay Period End		2023 Net Chang		unt \$1	2,400.00			
Approval Da	te							В	y User			
September 15, 2023												
September 18, 2023			Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									
September 19, 2023			F	Reviewed and Approved at th	ne Central Office	e Controllers Offi	ce Level by		ramses1			
Original C	ompletion Date	Current	Completion Date	Actual Completion Da	ite %	of Current Co	ntract Amoui	nt Com	plete			
Decen	nber 1, 2023	Dec	ember 1, 2023				98.26%					
Cont	ract Information	al Dates			Milestones							
Date Description	Original Completion Date	Current Completion Date	Date	Description	Original Completion Date	Current Completion Date	Days Rema	0	Diary Charge Days			
Acceptance Date			JSP G - Liquidated D N0743 - Milestone - 0	Damages Specified - Bridge Calendar Time	August 17, 2023	August 17, 2023		stone plete				
Awarded Date	March 8, 2023	March 8, 2023										
Letting Date	February 17, 2023	February 17, 2023										
Notice to Proceed Date	April 10, 2023	April 10, 2023										
Open to Traffic Date												
Work Began Date	June 19, 2023	June 19, 2023										

Contract Total Pay For Estimate No. 7										
	This Estimate	Previous	To Date							
230217-D03										
Total Posted Item	s Pay \$26,055.00	\$752,188.00	\$778,243.00							
Gross Item Adjust	ments \$300.00	(\$6,134.13)	(\$5,834.13)							
Incentive	\$0.00	\$0.00	\$0.00							
Disincentive	\$0.00	\$0.00	\$0.00							
Liquidated Damag	(\$3,600.00)	\$0.00	(\$3,600.00)							
Other Contract Ad	ljustments \$0.00	\$0.00	\$0.00							
	-	\$746,053.87	\$768,808.87							
Contract Total Payable This Estimate:	\$22,755.00									

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3443	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$5,000.000	0.2	\$1,000.00
	0020	2029901	MISC.PLACING BROKEN UP BRIDGE DECK	LS	\$18,000.000	0.04	\$720.00
	0150	8059901	MISC.SEEDING AND MULCHING	LS	\$5,900.000	1	\$5,900.00
	0240	7034212	SLAB ON STEEL	SQYD	\$400.000	17.15	\$6,860.00
	5001	7121250	STRENGTHENING EXISTING BEAMS	LS	\$11,575.000	1	\$11,575.00
Project J5S344	3 - Total						\$26,055.00
Overall - Total							\$26,055.00

Contract Adjustments Th	nis Estimate					
Contract Adjustment ID	Adj Type	Entered By	Comments	Time Units	Rate	Amount
4407	OTHRLiquidated Damage	ackert1	2 Days Charged as per JSP G 2 x \$1800 = \$3600 Time was allowed from			(\$3,600.00)

Revision 3/23/2023 Page 1 of 9

\$300.00



Total

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 15, 2023

Progre	ss Esti	mate Number		230217- i <b>ctor</b> Gene Ha		Pay Period Start ng, Inc. Pay Period End		et Change O		\$12,400.00
Contract	Adjustn	nent ID	Adj Type	Entere	d By	Comments Time Units		Rate	А	mount
					,	additional Optional Pavement, Type 1 Aggregate for Base, linear grading, and Line Item 5001 Strengthening Existing Beams from Change Orders 1 and 2.				
Overall -				d in the Ince	ntive, Disin	centive, Liquidated Dama	ages or Other Contrac	t Adjustmen	ts	(\$3,600.00
ne Item	<u>Adjustı</u>	ments This Es	<u>stimate</u>							
Project Number	Line No.	Item D	Description	Adjustment Type	Other Item Adjustmen Type		Comments		Line Item Adjustment Unit Price	Adjustment amount
J5S3443	0120	WATERBOR	4 IN. WHITE STANDARD ATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS Other Item Adjustment Other Returning the 20% withheld from estimate 6 as per 620.12.2.4 Stephen Wood checked the reflectivity at night and it was passing the		nen Wood checked the			\$240.00		
	0130	WATERBOR	OW STANDARD RNE PAVEMENT PAINT, TYPE P BEADS	Other Item Adjustment	Othe	as per 620.12.2.4 Steph	thheld from estimate 6 nen Wood checked the and it was passing the visual inspection.			\$60.00
	5001		RENGTHENING XISTING BEAMS	Material				-1	\$11,575.00	(\$11,575.00
	5001 STRENGTHENING Material EXISTING BEAMS			generated Material F Adjustment (000 overridding Payment Es	ets the original system- Payment Estimate Item 11) due to user ackert1 stimate Exception 2 on ent Payment Estimate.	1	\$11,575.00	\$11,575.00		

Revision 3/23/2023 Page 2 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J5S3443	FAS S402(73)	Bridge deck replacement	J	CALLAWAY	over Millers Creek, 7 m	iles south of I-70	
Totals by .	Job Numbe	rs					
J5S3443					This Estimate	Previous	To Date
	Poste	d Item Pay			\$26,055.00	\$752,188.00	\$778,243.00
	Gross	Item Adjustm			\$300.00	(\$6,134.13)	(\$5,834.13)
			Gross	s Item Pay	\$26,355.00	\$746,053.87	\$772,408.87
	Incent	tive			\$0.00	\$0.00	\$0.00
	Disino	entive			\$0.00	\$0.00	\$0.00
		lated Damage			(\$3,600.00)	\$0.00	(\$3,600.00)
	Liquid	iateu Damaye:	•				

Revision 3/23/2023 Page 3 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3443, Item 7034212, Project Item Line Number 0240, Material Set 703421296, Material 0705DPRCPS30 - Prestress Conc Deck Panel 3" (75 mm), Acceptance Action Generic 0705DPRCPS30 is insufficient.	Requested Silane Sealer for the Slab on Steel deck all other tests and certs have been entered for this item	ackert1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3443, Item 7121250, Project Item Line Number 5001, Material Set 712125096, Material 1080BRM - Bridge Material, Acceptance Action Generic 1080BRM is insufficient.	Fabrication Inspection Shipment Release from Joe Schulte CD Cover Plate C1 and D1, No shop drawing for this item to expedite the process and keep the costs down.	ackert1	Overridden

Revision 3/23/2023 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
217-D03	J5S3443	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	0020	2029901	MISC.PLACING BROKEN UP BRIDGE DECK	1.00	0.00	1.00	LS	0.48	\$18,000.00	\$8,640.00
		0001	0030	2071000	LINEAR GRADING CLASS 1	1.60	0.00	1.60	STA	1.60	\$1,500.00	\$2,400.00
		0001	0040	2153000	SHAPING SLOPES, CLASS III	7.00	0.00	7.00	100F	7.00	\$1,500.00	\$10,500.00
		0001	0050	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	360.00	0.00	360.00	SQYD	360.00	\$20.00	\$7,200.00
		0001	0060	4019905	MISC.OPTIONAL PAVEMENT	360.00	0.00	360.00	SQYD	360.00	\$108.00	\$38,880.00
		0001	0070	6161005	CONSTRUCTION SIGNS	628.00	100.00	728.00	SQFT	728.00	\$8.25	\$6,006.00
		0001	0080	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0090	6161030	TYPE III MOVEABLE BARRICADE	12.00	0.00	12.00	EA	12.00	\$160.00	\$1,920.00
		0001	0100	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,300.00	\$6,600.00
		0001	0110	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$77,000.00	\$77,000.00
		0001	0120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	600.00	0.00	600.00	LF	600.00	\$2.00	\$1,200.00
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	150.00	0.00	150.00	LF	150.00	\$2.00	\$300.00
		0001	0140	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,000.00	\$3,000.00
		0001	0150	8059901	MISC.SEEDING AND MULCHING	1.00	0.00	1.00	LS	1.00	\$5,900.00	\$5,900.00
		0001	0160	8061005	ROCK DITCH CHECK	126.00	0.00	126.00	LF	126.00	\$14.50	\$1,827.00
		0001	0170	8061016	SEDIMENT REMOVAL	21.00	0.00	21.00	CUYD	0.00	\$10.00	\$0.00
		0001	0180	8069901	MISC.TEMPORARY SEEDING AND MULCHING	1.00	0.00	1.00	LS	0.00	\$4,200.00	\$0.00
		0010	0190	6061060	MGS GUARDRAIL	338.00	0.00	338.00	LF	338.00	\$33.00	\$11,154.00
		0010	0200	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$4,600.00	\$18,400.00
		0010	0210	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$1,450.00	\$1,450.00
		0010	0220	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	3.00	0.00	3.00	EA	3.00	\$3,950.00	\$11,850.00
		0070	0230	2162500	REMOVAL OF EXISTING BRIDGE DECK	2,799.00	0.00	2,799.00	SQFT	2,799.00	\$9.00	\$25,191.00
		0070	0240	7034212	SLAB ON STEEL	343.00	0.00	343.00	SQYD	343.00	\$400.00	\$137,200.00
		0070	0250	7034219A	TYPE D BARRIER	250.00	0.00	250.00	LF	250.00	\$85.00	\$21,250.00
		0070	0260	7121159	SHEAR CONNECTORS	2,500.00	0.00	2,500.00	EA	2,500.00	\$11.00	\$27,500.00
		0070	0270	7121250	STRENGTHENING EXISTING BEAMS	1.00	0.00	1.00	LS	1.00	\$60,000.00	\$60,000.00
		0070	0280	7123610	SLAB DRAIN	20.00	0.00	20.00	EA	20.00	\$450.00	\$9,000.00
		0070	0290	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL STEEL	1,600.00	0.00	1,600.00	SQFT	1,600.00	\$140.00	\$224,000.00
		0070	0300	7125210	FIELD APPLICATION OF INORGANIC ZINC PRIMER	1,600.00	0.00	1,600.00	SQFT	1,600.00	\$12.00	\$19,200.00
		0070	0310	7125365A	INTERMEDIATE FIELD COAT (SYSTEM G)	1,500.00	0.00	1,500.00	SQFT	1,500.00	\$8.00	\$12,000.00
		0070	0320	7125370A	FINISH FIELD COAT (SYSTEM G)	1,500.00	0.00	1,500.00	SQFT	1,500.00	\$8.00	\$12,000.00
			5004	7404050	OTDENOTUENING EVICTING REAMS	0.00	1.00	1.00	LS	1.00	\$11,575.00	\$11,575.00
		0070	5001	7121250	STRENGTHENING EXISTING BEAMS	0.00	1.00	1.00	LO	1.00	\$11,575.00	\$11,575.00

Revision 3/23/2023 Page 5 of 9



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### $\underline{\textbf{The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.}$

Project: J5S3443

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	9/12/23	9/14/23	0.20	LS	Signs removed and delivered	147+50	Left and Right	150+57	Left and Right	
0020	2029901	MISC. REMOVALS	9/12/23	9/14/23	0.04	LS	Both sides of the bridge see change order 0002	148+50	Left and Right	149+75	Left and Right	
0150	8059901	MISC. SEEDING	9/12/23	9/14/23	1.00	LS	Completed with no overspray.	146+48	Left and Right	151+81	Left and Right	
0240	7034212	SLAB ON STEEL	9/12/23	9/14/23	17.15	SQYD	Bridge Deck N0743	147+50	CL	149+75		
5001	7121250	STRENGTHENING EXISTING BEAMS	9/12/23	9/14/23	1.00	LS	2 plates on the top of Girder 1 and 4 near bent 4 see change order 0001	148+50	Left and Right	149+75	Left and Right	

<u>The information below this line are details for Construction Signs (if applicable).</u>

No Data Available

Revision 3/23/2023 Page 6 of 9



## Line Item Adjustments by Estimate

Contract ID: 230217-D03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3443	0050	TYPE 1 AGGREGATE FOR BASE (4 IN.	Material		6	Sep 1, 2023	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user acker11 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		THICK)			6	Sep 1, 2023	SYSTEM	(\$7,200.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price FUEL		6	Sep 1, 2023	SYSTEM	\$7.56	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$7.56	
			Price FUEL	- Total				\$7.56	
	0050 -							\$7.56	
	0060	MISC.	Other Item Adjustment	ACAD		Sep 1, 2023	ackert1	\$158.31	See AC Price Adjustment for 579.30 SY BP-1 was used in lieu of Bit Base
				ACAD - Tota				\$158.31	
			Other Item	Adjustment - Total				\$158.31	
	0060 -							\$158.31	
	0070	CONSTRUCTION SIGNS	Overrun	Overrun		Jun 30, 2023	SYSTEM	(\$825.00)	
					6	Sep 1, 2023	SYSTEM	\$825.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',8.25000 - 8.25000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0070 -	Total						\$0.00	
	0120	4 IN. WHITE WATERBORNE PAVEMENT MARKING	ORNE MENT		6	Sep 1, 2023	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user ackert1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					6	Sep 1, 2023	SYSTEM	(\$1,200.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	OTHR	7	Sep 15, 2023	ackert1	\$240.00	Returning the 20% withheld from estimate 6 as per 620.12.2.4 Stephen Wood checked the reflectivity at night and it was passing the visual inspection.
				OTHR - Tota	al			\$240.00	
				REFL		Sep 1, 2023	ackert1	(\$240.00)	Withholding 20% until we have retro results from section 620.12.2.4 EPG
				REFL - Tota				(\$240.00)	
			Other Item /	Adjustment -	Total			\$0.00	
	0120 -						2) (2)	\$0.00	
	0130	4 IN. YELLOW WATERBORNE PAVEMENT	Material		6	Sep 1, 2023	SYSTEM	\$300.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user ackert1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		MARKING			6	Sep 1, 2023	SYSTEM	(\$300.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	OTHR		Sep 15, 2023	ackert1	\$60.00	Returning the 20% withheld from estimate 6 as per 620.12.2.4 Stephen Wood checked the reflectivity at night and it was passing the visual inspection.
				OTHR - Tota				\$60.00	
				REFL		Sep 1, 2023	ackert1	(\$60.00)	Withholding 20% until we have retro results from section 620.12.2.4 EPG
				REFL - Tota				(\$60.00)	
			Other Item /	Adjustment -	Total			\$0.00	
	0130 -						010==1	\$0.00	
	0160	ROCK DITCH CHECK	Material		6	Sep 1, 2023	SYSTEM	\$1,827.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user acker11 overridding Payment Estimate Exception 13 on the current Payment Estimate.
					6	Sep 1,	SYSTEM	(\$1,827.00)	



## Line Item Adjustments by Estimate

Contract ID: 230217-D03

Type	roject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
CHECK   Material - Total   Stool   S				.,,,,,		T turns or	Date	2,		
Material - Total   Substitute   Substitute	33443	0160		Material			2023			
1040   SLAD ON STEEL   Material										
				Material - To	otal					
2023   2024   2025						0	1.1.47	OVOTEM		
Aug 1, 2023   SYSTEM   \$88,34,000   This adjustment offsets the original system-generated Material Payment Estimate Estimate Escapsion of on the current Payment Estimate Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Escapsion of on the current Payment Estimate Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0001) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Estimate Item Adjustment (0002) due to user ackent to verridding Payment Item Item Item Item Item Item Item Ite		0240	SLAB ON STEEL	Material		3		SYSTEM	\$48,020.00	Estimate Item Adjustment (0001) due to user mallos1 overridding Payment
2023   2023						3		SYSTEM	(\$48,020.00)	
2023						4		SYSTEM	\$85,340.00	Estimate Item Adjustment (0001) due to user mallos1 overridding Payment
2023   System   Estimate Exception 1 on the current Payment Estimate.						4		SYSTEM	(\$85,340.00)	
2023   SYSTEM   \$130,340.00   This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (IO23) due to user ackert overridding Payment Estimate Exception 7 on the current Payment Estimate.   \$0.00						5		SYSTEM	\$130,340.00	Estimate Item Adjustment (0001) due to user ackert1 overridding Payment
2023   Sept.   SySTEM   Sy30,00   SySTEM   Sy30,00   SySTEM   Sy30,00   SySTEM   S						5		SYSTEM	(\$130,340.00)	
Company						6		SYSTEM	\$130,340.00	Estimate Item Adjustment (0023) due to user ackert1 overridding Payment
Material - Total   S0.00   SySTEM   S21,250.00   This adjustment offsets the original system-generated Material Payment Estimate Exception 6 on the current Payment Estimate Exception 12 on the current Payment Estimate Exception 13 on the current Payme						6		SYSTEM	(\$130,340.00)	
1					- Total				\$0.00	
0250   TYPE D BARRIER   Material				Material - To	otal				\$0.00	
2023   Estimate Item Adjustment (0002) due to user ackert1 overridding Payment Estimate Item Adjustment (0002) due to user ackert1 overridding Payment Estimate Exception 6 on the current Payment Estimate.		0240 -	Total						\$0.00	
2023   SYSTEM   \$21,250.00   This adjustment (0024) due to user ackert1 overridding Payment   Estimate Item Adjustment (0024) due to user ackert1 overridding Payment   Estimate Exception 12 on the current Payment Estimate.		0250	TYPE D BARRIER	Material		5		SYSTEM	\$21,250.00	Estimate Item Adjustment (0002) due to user ackert1 overridding Payment
2023   Estimate Item Adjustment (0024) due to user ackert1 overridding Payment Estimate Exception 12 on the current Payment Estimate.						5		SYSTEM	(\$21,250.00)	
Company						6		SYSTEM	\$21,250.00	Estimate Item Adjustment (0024) due to user ackert1 overridding Payment
Material - Total   \$0.00						6		SYSTEM	(\$21,250.00)	
O250 - Total					- Total				\$0.00	
O290   SURFACE   PREPARATION FOR RECOATING   OTHR   OTHR				Material - To	otal				\$0.00	
PREPARATION FOR RECOATING		0250 -	Total						\$0.00	
OTHR - Total   (\$6,000.00)		0290	PREPARATION		OTHR	6		ackert1	(\$6,000.00)	
Description   Street   Stree			TORTILOUATING		OTHR - Tota	al			(\$6,000.00)	
STRENGTHENING EXISTING BEAMS    Material				Other Item /	Adjustment -	Total			(\$6,000.00)	
EXISTING BEAMS    2023   Estimate Item Adjustment (0001) due to user ackert1 overridding Payment Estimate Exception 2 on the current Payment Estimate.    7		0290 -	Total						(\$6,000.00)	
2023   S0.00     S0.00     S0.00     S0.00     S0.00		5001		Material		7		SYSTEM	\$11,575.00	Estimate Item Adjustment (0001) due to user ackert1 overridding Payment
Material - Total \$0.00  5001 - Total \$0.00  3443 - Total (\$5,834.13)						7		SYSTEM	(\$11,575.00)	
5001 - Total     \$0.00       3443 - Total     (\$5,834.13)					- Total				\$0.00	
3443 - Total (\$5,834.13)				Material - To	otal				\$0.00	
		5001 -	Total						\$0.00	
all - Total (\$5,834.13)	443 -	Total							(\$5,834.13)	
	all - 1	Γotal							(\$5,834.13)	



## Contract Adjustments for Contract - 230217-D03

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
7	J5S3443	Liquidated Damage	OTHR	(\$3,600.00)	100	Sep 15, 2023	ackert1	2 Days Charged as per JSP G 2 x $1800 = 3600$ Time was allowed from additional Optional Pavement, Type 1 Aggregate for Base, linear grading, and Line Item 5001 Strengthening Existing Beams from Change Orders 1 and 2.
7 - Total					(\$3,600.00)			
Overall -	Total				(\$3,600.00)			

Revision 3/23/2023 Page 9 of 9